S+S=mn+1)+n+1)+---+(n+1)
=n(n+1)

S+S=n+)+n+1)+ -+ (n+1)
=n(n+1)

S=1+2+---+n
S=n+n-1)+---+1
S+S=mn+1)+n+1)+---+(n+1)

=n(n+1)
i l—o 1+1+1=3,
(2) - 14+1+1=3,
24+1=3,
1+1+1=3.

El nimero del bloque es (2).

f(x):{x six >0,

—x sixz<O0.

f(:n):{ T six >0,

—x + 2023 en otro caso.

T six >0,
(3) fle)=q¢ -2 si —1<z<0.
—2? siz<-—1.
Una linea larga Una linea larga Una linea larga Una linea larga Una linea

larga Una linea larga Una linea larga Una linea larga Una linea larga Una
linea larga Una linea larga Una linea larga

210 = 14+24+-3+4+5+6+7+8+9+10+11+124+134+14+15+16+17+184+19+20+21+22+23+-24

(4) 210=1+2+3+4+5+6+7+8
+94+10+11+124+13+14+15
+16+ 17418
+19 420421 +22+23+ 24



(5) 210=1+42+3+4+54+6+7+8+9+10
F11412413+14+15



